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'f hird S emester B. B./B.Tech. Degree Ex a mi n ation, D ec.2024 I J an.2025
Gomputer Organization and Architecture

Time: 3 hrs. Max. Marks: 100
Note: l. Answer any FIL'E full questions, choosing ONE full question from eoch module.

2. M : Marks, L: Bloom's level , C: Course outcomes.

nrl i) i i:
rolr,rlcol
oslr,rlcol

oslr.rlr;or

With neat diagram explain contrection between thc processor lrqd qgrngly.
Write the diflbrence between little endian and big endian mcmory

Write a short note on basic performance equation.

OR

assrgnments.

Describe the concept of branching with an

execution.
Represent the foliowing decimal values as signed

magnitude, signed I's complernent and signed 2's

g*-pl. p*g."* of instruction l0

05

05

t.l

1,2

COI

7-bit numbers
complement

using sign and
formats.

Module - I

Module - 2

iwh"t ;i"G;"d.',
with suitablc example.

I Write a program to compute the sum of test scores of all the students in the
r thrce tests. Store the corresponding sums in mcrnory.

I ,. I Eipt.in the Rotate and Shitt instructions with an example.
I n I n"n"" *f,r.,utin.. F*ntrrn .tr,t :ort,n" tint io. r',iirrn o link resister.Define subroutine. Explain subroutine linkage using a link register,

I What are assenrbler directives'? Explain any two directives.
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Module - 3

i bus with neat di

n, LW_hq_,'_rI Ur I Vv ll0l lJ llltwtluPr; urowut) trruwf ruy! r/v rrrvrrrvLr rur
t, -F-.-.-----
I c. fDescribe two methods of handling multiple devicqs
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I E-pI", tl* ** 
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DMA .' iry .q41grlgl- ry{gqytfuf.a1qlq1l-rlL
'tvrlt. , *ii'on Bus nrUitrarion ___

Module - 4

Explain the o anization of I Kx 1 mernorv ctri

Write a note on : (i) Stallg lnelqgltgs _ _01L_9e9!91!9!loty

Explain the Magnetiq d iskprl4g_1plgq.

Drar,v and explain the internal organization of 2Mx8 asynchronous DRAM
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Module * 5

Discuss with neat diagram the single bus organization of data path

cessor.

What are the actions required to execute a completc instruction

I Aqpf&LL _
OR

_n_ry.gdgp]gq mu lt ip le bu s o rganizat ion o i CP U.
Draw and explain organization of the control r-rnit to allow conditional

r0
l0

I branching :4rhe microprogram.


